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Answer all guestions.
All questions carry equal marks.
Only one answer is to be given for each question,

If more than one answers are marked, it would be
treated as wrohg answer.

Each question has four alternative-responses
marked serially as 1, 2, 3, 4 You have to darken
only one circle or bubble indicating the correct
answer on the Answer Sheet using BLUE BALL
POINT PEN.

1/3 part of the mark(s) of each’qusstion will be
deducted for each wrong answer. (A wrong
answer means an incorrect answer of more than
one answers for any question. Leaving all the
relevant circles or bubbles of any question blark
will not be considered as wrong answer)

The candidate should ensure that Series Godeyof
the Question Paper Booklet and Answer Shest must
he same after opening the envelopes. |ngase they
are different, a candidate musti obtain anecther
question paper of the samesserias. Candidats
himself shall be responsiblesfor ensuring this.
Mobiie Phone or any other electronic gadget in the
examination hall is strictly prehibited. A candidale
found with any of such abjectionable matetial with
him/her will be strictly dealt as par rules,

Please cirrectly fill your Rell Number in O.M.R.
Sheet. § marks will be deducted for filling wrong or
incomplate Rell Numbaer. )

Warning : If a candidate is found copying or if any

unauthorised material is found in histher
Fossession, FI.R. would be lodged against
himvherin the Police Station and he/she would
liable to be prosecuted under Seclion 3 of
the R.P.E. {Prevantion of Unfairmeans) Act,
1902, Commigsion may also debar him/her
permanently from all future examinations of
the Cemmission.
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1 Which,one, of the following pairs is chggF ?

‘Location of Rajasthan RS Total geographical

area in km

(1) 23937 - 30°12' N & 69730 — 78017 E 342239.74

(2) 23930 - 30013 N & 69°30' — 78°2Y' E 342245.69

(3) 23925 - 30°12' N & 69020' — 78925' E 34224133

(4) 23°28' - 30014' N & 69°21 - 78024 E 342243.67

P ¥ ¥, W9 W FW W 37

e # Raf B Fw Anifs o
T frel WX U

(1) 2393 - 30°12' N &iIT 69°30' ~ 78917 E 342239.74
(@) 23930' — 30013 N ofit 69°30' — 7821 E 342245.69
(3) 23°25 — 30°12' N T 69°29' - 78%25" E 342241.33
@) 23028 — 30014 N &t 6921 — 78°24" E 342243.67

2 The isobar of 1000 millibars over the Rajasthan in jthe month of July passes
through : _

(1) Sirohi; Udaipur, Pratapgarh and Jhalawar

(2) Sirohi, Chittaurgarh, Kota and/Baran’

(3) Jalore, Pali, Ajmer and Karauli

(4) Udaipur, Chittaurgarh, Kota and Baran

1000 PR & weE-YE g TE S §

() R, SEagy, Fame o S g

@) fadd, fdsrs. we o @ N

(3) W, T e Td kil

@) s TRieTe, B @ € "

3 From the point of view of drainage area the correct descending order of river
systems of Rajasthan is :

(1) Chambal, Luni, Mahi, Banas (2) Chambal, Luni, Banas, Mabhi
(3) Banas, Chambal, Luni, Mahi (4) Banas, Chambal, Mahi, Luni

W%ﬁﬁﬁwﬁﬁmwﬁmﬁw%:
(1) o=d, @, 9, 99 (2) T, W, I, oW
() oW, T, T, AR (4) T, wEW, A,
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What major changes (data in Yoling” fig igures) have occured in crcp’pin‘g pattern
of Rajasthan since First Plan Period to till date ? R

(1) Area under foodgrain crops: has increased from 42% to 56%.
(i) Area under pulses has decreased from 21% to 18%
(i) Area under oilseeds has increased from 6% to 21%

{(iv) Area under cotton, sugarcane, guar, fodder crops, fruits;” veﬂetables and
spices has increased from 19% to 20%. e

Select the correct answer using the following codes -
() (i), (i) and (i) |

(2} (i), (i) and (iv)

(3) (i) and (iv)

(4) (i) and (iii)

Wﬁuwﬁwwé.'wwm%mﬁw-wﬁaﬁ
(aﬁrr_%tgwfaeff)trfé—crgq%?

(i) Waﬁmﬁ‘rmaﬁtﬁa@%@aw%%ﬁw%
(n)wﬁwaﬁmzl%ﬁww%ww%
(iii)%aﬁm%awa%ﬁamzl%aw%

TEL 20% & TEnE
(1 (). () wd (i)
) (@), (i) wd (iv)
() (i) <@ (iv)

@) G & i)
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§  Match, List-I with List-11 and select theigoirect answer using the codes given

below gt
List-1 List-I1
{Areas in Rajasthan) (Cow_ Ibreeds) _

(iy North western Rajasthan (a) T-{Ie;fh:i

(i) South western Rajasthan (b)..:“l'(lén.l‘c!réj

(iii) Western Rajasthan (c)."l::'::‘l”ﬁgr‘ﬁarkar

(iv) South east central Rajasthan (d) Gir *
Codes : \
mmwwwmmmmwﬁ
@ @) - @, G - b), (i) - () (V) = (@
3y @) - (), @) - () GiD) - (@), (V) (0
muwwmmwmmmﬁ)

qﬁf---laﬁqﬁr—-n%gﬁ%ﬁa%\ﬁmamvhﬁﬁng@—ﬁWWWﬂﬁ
I ghg -

o = - SR 1
(o % ) 7 A )
() Jad e T (a) <@
(ity sl ufyefi RS (b) LS
(iti) Tfyg | T (c) URIR&HT

() “=ier qd A TeREE (d) fir
. _

)y () - (e () - (b). (i) - (@), (v) - (d)
) (@) - (@), @) - (), (@) - (cj, (iv) - (d)
3 ) - @), G - O) i) - @), ) - (c)
@ @) - (b (i) - (0) () - (d). (v) - (@)
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6 On the basis of industrial potehtialities which of the following.' districts of
Rajasthan fall under category 'A' 7

(1) Banswara, Nagaur, Tonk, Srkar
(2)- Udaipur, Alwar, Kota, Bhilwara

(3)  Jaipur, Bharatpur Tonk Jodhpur

(4) Nagaur, Kota, Banswara Slkar

7 The most recent poverty alleviation proje¢t™Matfiched in Rajasthan is -
(1) Mitigating Poverty in Western Rajasthan (MPOWER)
(2) Swarna Jayanti Gram Swargjgdr” Yojna (SGSY)
(3)  Mahatma Gandhi Natiofial Rural Employment Guarantee Scheme (MN REGS)

(4) District Poverty-[nitiative Project (DPIP)
Wﬁﬁm'mﬁmﬁnﬁﬁwm%
(1) il orem ¥ Prefea P yISEe (MPOWER)
() @i S T "R g (SGSY)

Q) mEen AWl o i e TS W (MNREGS)
@) e frefar-vew Wk (DPIP)
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Match Listot with List-1l and select the-obrrect answer using the codes given

below the lists ! SRS
List-i T List1
(Development Sector) (Percentage of Total Budget

-y Allocation in the Twelfth Five

. ;Year Plan of Rajasthan)

(i)  Agriculture and allied activities (@) 6.41
(ity Rural Development SRy 9.10
Gii) Energy - o) 34.53
(iv) Sot¢ial and Community Services (dy 37.43
Codes :

W) - @ @ - b)) - @ ) - @
0 G- O () - @, ) - @, @ - ©
G () - (@, G - @, i) - O (v - @
@ O - @ 6 - 0, @) - @ @ - ©

g - U & gifee sl e qjﬁm%ﬁ%%ngzﬁwwm‘
@dr FaY g . T

T Rl
(ferrt &) | (aredi T Ao ¥ g T
e W W)
() TN U wEER R (@ 641
Giy o fasd (b) 9.10
(iity @l .(c) 34.53
(v) T T e e (d) 37.43
@ :

(1y @) - @), G - ©), (i) - (0, (v) - (d)
@) G - ®), G - (@), @) - @, () - ©
G) Q) - (d). (D) - (), (i) - (b). (V) - (@)
@ @) - (), G - ®), @i - @, () - ©
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9  The most important cement producing districts in Rajasthan are
(1) Bundi, Chittaurgarh, Kota, Sirohi and Udaipur
(2) Chittaurgarh, Udaipur, Pratapgarh and Banswara
(3) Sirohi, Kota, Dungarpur and Banswara
(4} Kota, Bundi, Tonk and Bhilwara
TR W g swE W gy faw ¥
(1) T, fdrems, @, Ta0E oF s@uqy
(2) fadems, SIaqR, dATwTE TH WA
() Rd, @@, dRgR wE steaws
(4) w, 9=, @ @ Hears

10 Name the traditional rain water storage system originally developed by Paliwal
Brahmins in Jaisalmer.

(1) Baori (2) Khodin

(3) Kund __ (4) Ukeri

Faer ¥ molraw grenel g Refra dfvw aeaie awt smedse wwh
& AW E - .

(1) &t 2) w3

¢G) 37 4) w&{

[T  Which one of the following statements is correets?
(1) Ganeshwar is not an excavation site.
(2) Bairath was a rural cultural centre.
(3) Kalibangan was an example of [ren-ere:
{4) Important occupation of the inhabitants of Ahar was smelting of
Copper-ore and making of cOpper things.
fraifed & & @ W BN WEE 7
(1) OIS UH S@AT WE \TEh
2) T uH wR-dmRe g ar |
(3) WG TE-gH WK H UH S AT |
(4) SESTHAAT F FEq] AATET HAE AT BT TAF T4 9 L w4191 o7 )

12 Which one of the following historians termed Kalibangan as the third capital
of Indus Valley empire ?

(1) G H. Ojha '(2) Shyamal Das

(3) Dashrath Sharma (4) Dayaram Sahani

Tyerifen o fha shemaan 3 @eiam wt Ry 9@ awee @ g aege
wET T 7

(1) <. wm 3 : (2) AMT TE

(3) Ty sl (4) =aTae e

00_A] 7 [ Contd...




13 In Rajasthan capital of Harish Chandra,” the founder of Pratihar dynasty

was at :

(1) Merta (2) Jalor

(3) Bhinmal (4) Mandor
Wﬁffuﬁimaﬂéswﬂumsﬁawaﬁwwﬁeﬁ:
(1) =W (2) WK

(3) AW (4) TR

14  Which of the following Chandel ruler was contemporary of
Prithviraj Chauhan 111 7

(1) Parmardi Dev (2) Jaiverma
(3) Kirtiverma {4) Yashoverma
qﬁmﬁmﬂqﬁqmwmwwm:
(1) "l &9 () SEa

(3) e 4y st

15 The chronological sequence of Allauddin Khalyi's following conquest 15 :

A.  Ranthambor B. ~Jalore

C. Chittor  DPw .Siwana

() A C DB @y A B CD

3) AB D C 4 A C B D

e Raws @t Freifed St @ FEEITER St BT
A, TEERER B. WWR

c fads . D. R

M A C DB @ A B CD

() A, BMD, C 4 A C B D

16 To whom Akbar entrusted Jodhpur in 1572-73 AD. 7
(1) Mota Raja Udai Singh
(2) Rai Singb of Bikaner
(3} Man Singh of Amer
(4) Ram, the eldest son of Maldeo
1572.73 €. # orEt I shugy el g o ?
(1) R Seatis @) @w s e
G) o ¥ "ERiE (4) TR F T IA M
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17 Rana Raj Singh (Mewar) was contemporary of :

(I) Akbar (2)  Jahangir
(3)  Aurangzeb | (4)  Shahjahan
R T (Far) aveeT or

(1) @R (2) R
(¢) &g 4) Rl

18 List of some Rajput rulers is given below -
A.  Rana Sanga
B. Chénder Sen
C.  Man Singh

D Rai Singh
Out of these select-two who supported Mughals :
(1) C and D (2) Aand B
(3) B and C (4) A and D
F AT E A G N G o < T
A O @

B. ==@m

C.  uefdE

D <mfts

T B D wm s R gt @ wedm B
(1) CaRD (2) AT B
3) BaRC (4) AD

12 Sadhu Sita Ram Das was associated with which peasant movement ?

(1} Bijolia (2)  Shekhavati
(3) Sikar (4) Bundi

WY WARW < RoW gve ewded & wwbug e 7
(1) fasffera (2)  srETaTe

(3) dmx 4) g4

00 A 9 [ Contd...




20 Match List-I and List-1l and choose youf, answer from the codes given

below :
List-1 List-11
Prajamandal (States) Year of their formation
I Dungarpur (ay 1931
m Jaipur | ) 1936
I  Bikaner (c) " 19338
IV . Alwar @ 1944
Codes :
1 i [ v
1 @ (a) () (b)
2) @ (a) (b) (©)
® @ ® © @
@) ® (d) (a) (©)

@Iﬁ@ll%m&@ﬁﬁaﬁﬁﬂqﬁﬁrﬁf%ﬁg@ﬁﬂﬁwm

-1 -1
e () TR e T
I ¥Ry (a) 1931
M SR (b) 1936
m den () 1938
IV (SF§aR (d) 1944
T
I I I v
M (@ (a) (c) (®)
2 (@ (a) (b) (c)
(¢) (@ (b) (c) (d)
@) b (d) @ ©

00 Aj 10 [ Contd...



21

22

23

24

E T

Ajmer was merged into-Raj§than in -

(1) 1947 AD. (2) 1949 A.D.

(3) 1950 AD. fedit (4) 1956 AD. voh
STSHT I T W fyea gew v ¢

(1) 1947 . o 3 (2) 1949 % o

(3) 1950 €. % @) 1956 % A

In how many stages Sirohi state was. integrated into Rajasthan ¢
(I} One ; (2) Two

(3) Three ' (4) Four

e o o ﬁﬁrc?f o eraE ¥ faeg gem ¢

(1) u= @ &

(3) @ 9 W

First Woman of Rajasthan arrested during the freedom strugale of Rajasthan -
(1) Nagendra Bala

(2) Anjana Devi Choudhary

(3) Ratan Shastri

(4) Rama Devi Pandey -
W%@Wa@m%ﬁﬁﬁmgﬁaﬁﬂa@mﬁmqﬁm o
(1) s 9w

(2)  SrorTeET e

(3) T e

(4) TIRA U

With reference to Narayahi Devi Verma which one of the following statement
is incorrect ?

(1) She remained member of Rajya Sabha from 1970 to 1976

(2) She established Mahila Ashram at Bhilwara in 1944

(3) She was the member of Lok Sabha from 1957 to 1962 -

(4) She was imprisoned for taking part in 1942 movement

P & @ wfer o AEEeR 3d T % owed § e % °
(1) 9% 1970 & 1976 6 TTEHT &) TR G

(2) T 1944 F @R o AW SR W WA @
(3) = 1957 § 1962 WH WibEdT BN FE@ & _
(4) TE 1942 & e A 9T o % RU 9w S 99

00A] u [ Contd...




25
(1) Surahavardi (2) Kadn
(3) Chisti (4) Nakshbandi
m%wrﬂﬁ@?ﬁmwﬁﬁ?ﬂ%wﬁdﬂ% ?
1) g @ @l
) fuedlt (4) TETE=l

26 Which fort has the entrance gate known as 'Naulakha Darwaza' ?
(1} Chittor (2) Siwana '
(3) Jalore (4) Ranthambore
fipm gl @l WAMEX i@ G % T ¥ W S ¥ 7
(1) fuchs (2) foarm
(3) TR (4) T

27  In which month is the fair of Gogaji held ?
(1) Bhadrapad (2) Magh
(3) Phalgun (4) Shrawan
el @ de feg wE ¥ wxa ¥ 7
(1) WEUR (2),H ™
(3) Rl (4) S

28 The ornament 'Memand" is worn on -
(1) Head (2) Waist
(3) Arm (4) Feet
Ay STEETET ¥ -
(1) T 2) @ W
(3 F¥0 W 4) T

29 Name of the birth place of Tejaji is
(1) Dadreva (2) Khadnal (Kharnal)
(3) Asind (4) Kolu
Joel ¥ wAE o A ¥ -
(1) @& Q) TEW (GE)
(3} omEE (4) @i

00 A] 12

Khwaja Moinuddin of Ajmer belongsl{tr:;}_;{,_yvhich Silsila of Suffism ?
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30 Match List-l with List-11 and’ select the correct answer using ‘the codes given

below the lists -
List-I
(Authdrs)

(I)  Karnidan

() Daulat Vijay

(1) Padamnabh

(IV) Jagjeevan Bhatt -

G
.(b)

.-f'

-2 (11
——

(d)

List-11

(Works)

(a)  Ajitodaya

(b} Kanhed de Prabandh
(¢} Khumanraso

(d) Surajprakash

(IV)
(a}
(c)
(d)
(©)

wlﬁqﬁrlégﬂﬁaaﬂﬁquaa%ﬁﬁngﬁﬂﬁw

Code :

(I {n
(1Y (d) (c)
2) (b (a)
3) (a) (b)
4) (d) (a)
W W BT

i Lo |

(Fraer)
(O &R
(1)  <adtyer
(1) TR
(IV) wreiiaq 43
% :

(1) (Im)
(1) () (©)
2) () (a)
) () (b)
(4) (d) (a)

(1)
(b)
(d)
(c)
(b)

gl
()
(@) ey
(b) FHrEd wey
© g
(d) gTTIBI9

1v)
(a)
{c)
(d)

(c)
13 | Contd...




31 Most famous Kishangarh style's painter was :

(1) Nagridas (2) Ram Lal
(3) Al Raza (4) . Hassan
Regre e @ wfne R @
(1) e (2) AT
(3) ST : (4) FE
32  What is Ravanhattha ?
(1)  Type of dance (2) Musical Instrument
(3) Title of a book (4) Name of the place
TavEel w7 | ‘
(1) T& 9B & TI (2) aEES
(G) U Y& B s (4) W & 94m

33 For the first time, When President's Rule was imposed in Rajasthan, the Governor
of the State was :

(1) Hukum Singh (2) Joginder Singh
(3) Sampurnanand (4) Raghukul, Tilak
TORAM ¥ TE UEWI AR WU §IET WAL, A % O 9
() zn fbe (2) wifET /e
(3) wyE @) xggm faaw
34  According o the Constitution, the Chief Minister is :
(1) Elected _ (2) Appointed
(3) Selected (4) Nominated
dHaE & sgEn, gege e s ¥
(1) fraif 2) Fgw
(3) =ahE () =
35 ‘'Parliamentarys. Secretary’ in a State makes an oath or affirmation before :
(1) Governor (2) Chief Minister
(3) Speaker (4) Chief Justice of the High Court
T HEEEE e feed wee sy W@ ¥ ow whie wan ¥ 7
(1) U & (2) TEEEE &
(3) Tauruw-area % (4) = IEeE % ger il %
36 The Governor addresses his resignation to :
(1) President . (2) Prime Minister
(3) Union Home Minister (4) Chief Justice of the High Court
T AT -0 EEiT wma ¥
(1) Tufy @ (2) WrE @i
() W F s HA (4) T TOWE & qET ARl @
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37

38

39

40

41

Who s at the apex of the administrative hterarchy of a Stafe 7
(1) Cabinet Secretary ~ = '

(2) Principal Secretary to the Government

(3} Chief Secretary

{4) Principal Secretary to the Chief Minister

odl ten ¥ yyehe veEm ¥ st wwoEer ¥ 0
(1) #APrew afg (2) vg@ s gaq
(3) Y& qhmE @) Yo & W g

The total sanctioned strength of members, including the Chaii’man of Rajasthan
Public Service Commission, is :

(1) s @) 6
(3) 7 i (4) 8
T Wik Wl SR & WeEl &, e §ie, WWH@I%
(1y 5 (2) 6

3 7 _ 4) 8

Which schedule of the Indian Constitution is related to the /Powers of
Panchayats ?

(1) Third _ (2) Fourth

(3) Tenth (4) Eleventh

T e o wdt s et g 3w g 7
(1) dq=h o (2) e

(3) wwdl (@) AT

Rajasthan State Human Rights “Commission was established in the year :
(1) 1995 (2) 2000

(3) 2001 (4) 2005

TR T AR, HAE & ene e oad g 7

(1y 1995 & (2) 2000 ¥

(3) 2001 ¥ (4) 2005 ®

Bajrang Lal Takhar was selected for Padma Shri Award 2013 from Rajasthan,

 He is associated with -

(1) Shooting (2) Swimming

(3) Archery (4) Rowing

TS § I AE H g g 2013 % W 9T T
g8 dafym ¥ -

(1) THymea= & (2) ?RTE‘?I q

(3) WETEmn o (4) wr@Ee |

00 A} 15 [ Contd...




43 Which one of the following pair is notl__i_':cdii:r'ect ?

(1) Vijay Kumar - Squash -
(2) Rahul Khatrt - Karate

(3) Sapan Tilokani - Shooting:
(4) Ghamanda Ram - Athletics
Srq ¥ ¥ A TH G W OE 7

(1) FR=g FR ~ W

() EE @A - WR

() aud R — ot
(4) =AUSI TH reriTe

43 Match List-1 with List-11 and select the correct answer by u
below the lists :

o 0w

List-1
(District)
Jodhpur
Kota
Ajmer
Bharatpur

Codes :

(D)
(2)
(3)
)

ga-1 &

B b —

w8 v g

o 0w s

(1
(2)
(3)
(4)

00 A

-1
(Fowm)
RIS
A

R

LAY

e/

A

~ign

I td

W s — T

N o= e W

(Density of Populatio:1—2011)

© List-II
1 503
2 305
3 374
4 161
D
4
3
2
1

@11
1 503
2 305
3 374
4 161
D
4
3
2
1
16

EO

sing the codes given
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44 Qut of the following authors, who has written 'A History of Rajasthan' ?

(I) Rima Hooja (2) Satish Chandra

(3) Summt Sarkar (4) R. C. Majumdar
Prefifes et ¥ 4 P T R ofe T b dwwm ¥ 7
(1) T g (2) @iyt TE

@) g WK (4) . . FER

45  Consider the following schemes : .
A.  Janani Shishu Suraksha Yojaﬁa
B.  Swawlamban Yojana
C. Rashtriya Mahila Kosh
D, Swayamsiddha Yojana
What is the correct chronological sequence of above schemes ?
(I C, D A B : {2y B, C, D A
3) A, D C B 4 D, C B, A
Frafafas dommel ov fram it
A. ST Ty geem @
B. w@raeEs A

C. sty afem @iy

D. wEfg g

JUFT Al Bl WE BIOTEY w ¥ 7

() C. D A B (2)“.B,°C, D, A
3) AD, CB . . 4D, C, B, A

46  In Rajasthan, 'Rajeev Gandh Paryavaran Sanrakshan Puraskar' has been given
on the occasion of

(1) Rajeev Gandhi Birth, Anniversary Day — 20 August
(2) World Environment Day — 5 June
(3} Ozone Layer Conservation Day — 16 September
(4) Earth Day — 22 April
T H U W TE S (R WEE Y W -
() o TR & S| — 20 oA @l
(2) fayg wiERw fmw - S S@ @
(3) oM Utd EXE fmw - 16 fyoew @t
4) v feaw - 22 ofw @
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"Récently UNESCO has included six Hill Forts of Rajasthan in the World Heritag

list. These are : _

(1) Chittorgarh, Kumbbhalgarh, Ranthambore, Amber, Jaisalmer, Gagron
(2) Chittorgarh, Kumbhalgarh, Ranthambore, Amber, Jaisalmer, Bikaner
(3) Chittorgarh, Kumbhalgarh, Ranthambore, Amber, Jaisalmer, Jodhpur
(4) Chittorgarh, Kumbhalgarh, Ranthambore, Amber, Gagron, Jodhpur

B A W g A TSR b 6 Uee) fhw @ faea ader @ H st
fRr s 19 % -

() RrieTe, Fwame, TEER, JET, SHaEy, TR

@) frdeme, T, TEER, SR, SR, Dbt

() TR, pomms, RAER, WY, JEEER, Syl

(4) fieTe, FYETe, WEER, AFI, TRE, Sy

According to the Raghuram Rajan Committee report, the Rajasthan state has
been identified as the -

(1) least developed state (2) less developed state

(3) relatively developed state (4) developed state

T e B O F ATEN IO TR R A T ¥ -

(1) weg &n fqsfag wo @ = fawfa s

(3) gaTew WU ¥ MERm T @) folhd =

'Rajasthan Ratna' is the highest /civiliann award of Rajasthan. This award was
instituted by the State Goverfimént<in the year of -

(1) 2008 (2) 2010

(3) 2012 (4) 2013

SR Tt TR 1, Faied AFie YR & | U0 R 81 39 JT&hT
@ giw fepar wnlar, -

(1) 99 2008, F (2) =9 2010 ®

(3) =§ 20128 (4) =¥ 2013 o

The ‘basic objective of Amrita Society in Rajasthan is :

(1) wio provide health facilities in rural areas of Rajasthan.

(2) to providé marketing opportunities to women Self-Help Groups product.
(3) to provide safe drinking water in rural Rajasthan.

(4) to provide marketing opportunities for dairy products.

T W egar edd e gE W@ ¥ -

() ergE & aefer &= § e glawel @) uee & |

(2) wfe w-geRa-TE & SOl @ fJum % R Sude wRaEn |
G) urf e A gfed fW @1 url Sueey wEen |

4) ZTi-saRi & MY fTovm & oaEy Suesy HiEr |
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An example of a cause of sudden and extreme environmental change at the local
level would be -

(1) A hurricane .- {2) A monsoon

(3) Vegetative climax v+ . (4) Post-glacial cooling :

WA WY W HRES Ud wXH wataeld qed|E % R % SEE Eo-
(1) &l (uvder) (@ wrga

() TR o @) TR e

The hot dust-laden wind biowing from Sahara desert to Mediterranean region
is called the - '

(1) Sirocco (Z) Fohn

(3) Mistral (4) Chinook

eI e ¥ €T HEl WET & & geiRd @ arel miogw 78 we
S W ¥

(1) T 2) w7

(3) Prgw - @ o

What was the slogan of world environment day in the gear 2013 ?
(1) Think, eat and save (2) Save water

(3) Save Biodiversity (4) Save the ‘earth

mzomﬁ%rsawﬁawﬁwwwwf&mwm?_
(1) Trafd, wed ok = md () seEwn
() w3 Ffymar goEd (4) gl TamEy

'Chumbi Valiey' is located at thelintersection of which countries ?
(1) India, Bhutan and Tibet (2) India, Bangladesh and Tibet
(3) Tibet, Bhutan and Nepal {4) Nepal, Bhutan and India

‘gl W R 2 HouireRa ww oux Ruw &7

(1) 9Rd, 2H ud | ikisd (2) R4, @Ry ot fyea
(3) T, qEFwd Aum (4) U, W ud wrd
Which island related to strategic tension between China and Japan ?
(1) Hokkaido (2) Senkaku (Diaoyu)

(3) Kyushu (4) Shikoku

99 & S UE % 9y gmie @ fey Ag d gEfua ¥ o2

(1) @ 2) drg (Reneir)

3) wY 4 frg
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56 Which one of the following is 1ot a“factor modifying ocean currents ?
(1) Bottom topography of the ocean
(2) Seasonal variation in winds .
(3) Direction and shape of the coastal line
(4) Tidal wave in the ocean
Frev & 4 &M ue 9@ weEry ariel ® susia Sl e ¥ o7
(1) wEErE T B wewh
) vadi o A ggda
@) @@ Y@ % R w@ eﬂ?gﬁ‘f[
(@), weErE ¥ i wet

57  Which National Highway passes through the Siliguri Corridor ?

(1. NH-31 ’ {2) NH-02
(3)  NH-33 (4) NH-37
fafger. aiva @ ¥ex B9 @ U et e &7
(1) U TEERT-31 (2) LR AER-02
@B) U TEERi-33 (4) TR TeHri-37
58 'Meghalaya’, a state located in the North-east India, name suggested by -
(1) S. P. Chatterjee (2) +D. N. Wadia
(3) O. H. K. Spate 4y R. L. Singh
A’ ARG % IAO-TH WORUEIT W/ AW GART T A -
(1) wq. 9. =it w7 ) . wm =l Ew
(3) . wg W we g (4) onT. uw. T mm
39 Rivers Kost and Kali' Sindh are associated with the drainage system of
(1) River_Sindh {2) Inland drainage
(3) River, Brahmputra {4) River Ganga
DU gmiiyg kel e yEn-ay ¥ @ €, 9% T -
(1) g w1 (2) oa® YaE
(3)., sey & 4) T =
60  Which tool is used to find out exact location on the earth ?
(1) GPS (2) GIS
(3) PSLV (4) GSLV
a8 Wiy ey gull wxowd Refy wa & wRb ¥ -
(1) <rqrea. (2) w.emE.uE.
(3) W.uguad, (4) Sog.ow.d.
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Which Constitutional Act in the golonla] India was cuimination . af.-
‘Montagu Declaration' ? e '4
(1} Indian Councils Act, 1892 (2) Indian Councils Act, 1909
(3) Government of India Act, 1919 (4) Government of India Act, .1.-9'35

siuFRflE wRa § e wiftaie afbam wewg ey @ TRy ar ?
(1) wkdg wiwe sfufvam, 1892 (2)  weedg aftwg sfufam, 1909
(3) WRdrg maq ofafwEm, 1919 (@) wery o afafam, 1935

Identify the incorrect pair of Constitutional Act and major provision thereof :
(1) Indian Councils Act, 1892 - Direct Elections to Councils

(2) Indian Councils Act, 1909 — Separate Electorate for Muslims

(3) Government of India Act, 1919 - Diarchy in Provinces

(4) Government of India Act,” 1935 — Provincial Autonomy

gt ofdhre T SEh WG wEHMN & Jleqel gw el gedig
(1) g oftwg wfufres, 1892 -~ ofwdt & forg worar Frafe
(2) W ufwe afafrEm, 1909 - giemt & g gus Mame-Avew
(3) wrlm gmEe eifufrw, 1919 - i § Ry omm

(4) e e ofatwas, 1935 - wikim @

The only Annual Session of Indian National Congress in 4924 presided by
Mahatma Gandhi was held at :

(1) Kakinada (2) Ahmedabad

(3) Vardha (4) Belgaum

HETHT e DI SFTHAT H AT T BIUG HHIE qoe 1924§ ¥ gaw o
(1) wesFRT | Q) eEErE o

() @ui o | (4) \aea o

During which movement of Freedomstruggle, the Gandhi-Irwin Pact was signed ?
(1) Non Co-operation Movement (2) Civil Disobedience Movement

(3) Quit India Movement (4) Champaran Satyagrah

wesa-gad F fegesidies & dvg md-sfe wued W Twer g o?
(1) om/Esam aTieies (2) wlaTg o SiEwT

(3) WHa BEl g (4) <RV TENE

Who was the Chairman of Drafting Committee in the Constituent Assembly ?
(1) Jawaharlal] Nehru (2) K. M. Munshi

(3) B. N. Rau (4) B. R. Ambedkar

dReF-am ¥ uer ey & ooremm W & 7

(1) STnERa™ g% 2) & w. s

(3) A T g (4) 9. AN iR
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Which Schedule of the Indian Constitution is related to Anti-Defection Law
(1)  Fourth Schedule . {2) Eighth Schedule

(3) Tenth Schedule (4) Twelfth Schedule

W dRaE B P Sgdl Ta-ged el wd 9 gdfud ¥ ?
(1) <t ergga (2) omsdt STEEEN |

(3) TEdl g (4) el erggd

India is a 'Republic', because : _;“_'_" .

(1) The President is elected. A

(2) Parliament is bi-cameral. -~
(3) Council of Ministers is respon51ble to Lok Sabha.
(4) Fundamental Rights of citizens aré guaranteed by the Constitution.

IRd TF TART 3, i

(1) Tzefy Preife g ¥

(2) woe fg-uetEs ¥
(3)nﬁnﬁaasﬂzﬁﬁmﬁswﬁrmﬁ%

(4) Wﬁaﬁ%q@mﬁaﬁmﬁmw%

Which Fundamental Right in Indian Constit_uti__on prohibits traffic in Human beings °
(1) Right against Exploitation (2) Rightito Freedom

(3) Right to Equality {4) Rightyto Constitutional Remedies
R wiuE ¥ #mar W afier T9e Sageiir wf T ¥ 7
(1) wor & frew AR (2) e @ et

(3) wHA B AU (4), GItep oAy w1 I
Consider the following statements” :

{A) Parliament cannot make any law which encroaches Fundamental Rights,
(B) Parliament can change the Fundamental Rights through Constitutional

Amendment. _
Which of the statementis given above is/are correct ?
(1} (A) only (2) (B) only
(3) Both (A) and (B) (4) Neither (A) nor (B)

Freifra wyal, g3 e @ifg

(A) TUZBE G T AN wHA 2, 9 oW afuerl w1 oerfasHm HY
(B) e wiagm—dsiies @ @ et @ uRafia wv gwdt @
SHEa el ¥ ¥ ey wu we R 7

(L)) had (A) (2) aw (B)

(3) (A) 3R (B) & @) T (A), T & (B)

In which part of the Indian Constitution, Directive Principles of State Policy
are mentioned ?

(1) Part 111 (2) Part IV
(3) Part IV-A (4) Part V
oA giyu & e owm ¥ eu- il % PRyw o=l @ sww § 7
(1) s 10 (2) T IV
(3) W IV-& @) WV

00 A) 22 [ Contd...



71

72

73

74

75

Among the following, what is: not mentioned in the Dlrect[ve Pnncsp]es of
State Policy ? .

(1) Living wage for workers "

(2) Uniform civil code for the citizens

(3) To develop the Scientific temper

(4) Free Legal Aid
ﬁmﬁwﬂ@rﬁwwaﬁ@w%%ﬁ%waﬁﬁﬁwﬁgm% ?
(1) wuerd & fog frafe s

(2) -m@E & fu wm— —ar e dfear

() e gheam & 'fﬁ'uﬁrer

4) Pryes tute wemar

The President Addresses his resignation to ;
(1}  Chief Justice of India .. (2) Attorney General tor India
(3) Speaker of Lok Sabha =~ (4) Vice President of India

AR ST QIO ST @ b

(1) T % ger AR @& (2) W@ & TEEOEEE
(3) WihaW-3IeTe @l (4) WG & ST-ULAR ol

Who inquires the disputes arising out of the election of ‘President ?
(1) Election Commission of India ~ (2) Supreme Court

(3) Parliament (4) Attorney Gefneral for India
iy % Fatee 4 saw Rert @ S eEeeEr & SR § 7
(1) s Pratem e (2) G AR

(3) €Eg (4) WG B AR

Among the following, who was a mémber of Rajya Sabha while becoming
Prime Minister ?

(1) Indira Gandhi (2) Morarji Desai

(3) Charan Singh (4) V. P Singh

frreifepg & o, BMAHEEEET 0 99 (W 99T w7 9elE guEr 7
(1) 3w Wi 2) #Reh d9E

(G) W e (4) . @ s

The Prime Minister administers oath of office to :

(1) Deputy Minister (2) Deputy Prime Minister
(3) Protem Speaker of Lok Sabha (4) Parliamentary Secretary
gl B Te @t gvy R @2

(1) <9 Wl @ (2) SU garEAl A

(3) orunll drEwMene & (4) dudE TRE W
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30

Among the following, which feature qf_ the [ndian Constitution is not truly
'Federal' in nature 7

(1) Distribution of Governmental Powers

(2) Written Constitution

(3) Integrated Judiciary

{(4) Judicial Review

ﬁmﬁﬁmﬁ%,w@mﬁﬁmﬁaﬁaﬁ%ﬁwwﬁﬁﬁnm‘%'

(3) USpd =R (@) =t ERREGICE
Identify the incorrect pair of Political Party and its Leader :

(1) Nationalisi Congress Party - P. A Sangma
(2) Communist Party of India - S. Sudhakar Reddy
(3) Communist Party of India (Marxist) - Prakash Karat
(4) Bahujan Samaj Party - Mayawati
e A el Saw YA % Ryl g B e

(1) egamdl s il o uw Em
@) W wghe 9 ~  gH guet @
(3) WRE @ FghRe Wl (ArRTar)) - gt eI
(4) WEIH WA TR — e

With which neighbouring country, India_has“a dispute over the water division
of Teesta River ?

(1) Nepal {2)+ Pakistan

(3) Bangladesh (4) Bhutan

e 9 F wE-dean W, S vE pE T 9 % w frEw ¥
(1} o (2) wiwEA

(3) IR (4) ¥

[n November, 2013, which country has reached an interim agreement with P5+1
countries over. its Nuclear Energy Programme ?

(1) Israel - (2) Iran

(3) Syria_* (4) India

ToEY, (2013 ¥ @M Y Ty Y o AW Sl BRHR & ey W Ps+l 29l
Foaw s sake gesiar ¥

(1) oA (2) ¥

(3) wfan (4) 9Rd

The tenet of 'Genuine Non-alignment' in India's Foreign Policy was presented by :
(1) Indira Gandh (2) P. V. Narsimha Rao

(3) VP Singh (4) Atal Bihari Vajpayee

wE A frderdfy ¥ Cordl Te-Prodwar B gHew ¥ wgdwdl 4

(1) g (2) W @ Wiz @

(3) . d. s (4) orew fErll o
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81  Educational Psychology deals with -

(a) Teachers #«(b) Teaching
(¢} Classroom environment (d) Pupil
Which among the following is the best choice ?
(1) only (d) (2) (a) and (d)
(3)  (b), (c) and (d) 4) (a), (b), (¢) and {d)
e wAifasm @1 @y ¥ -
2y T 4 ©(b) e @
(c) hedhe TIERT W (d) Terneff @
= 9 ¥ oM 999 ol fqes ¥ 7
(1 & (d) 2) (a) 9T (d)
(3) (b}, (c) & (d) @ (. (b), (c) & (d)
82 Match List-1 with List-Il and select the correct answer using the codes given

below

List-1 List-I1
1 John Dewey A Gestalt
i Tichener B Structuralism
Il Koftka C  Functionalism
IV Watson D Behaviouralism
Codes :

| I 11 v
() D B A C
2) B A C D
3) D C A B
4) C B A D

-1 @ g1 @ gifeg Afein 99 R B 9 v s oW =
HINT
-1 -1

1 = S A TER
P e Ty B €W@EIER
il e C FEER
IV aegq D EEerdr
wE ¢

I i o 1V
(h P B A C
(2) B A C D
G) D C A B
4) C B A D
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"Learning is the acquisition of knowlgdge and attitude". The above definition
of learning has been given by

(1) Crow and Crow . (2).. - Kingsley and Garry

(3) Hillgard (45- Woodworth

‘g ol eifigfa @ wRe aiftrm ¥ sftrm Y sude aitwo & ¥ -
) @ w A @. fred w0 A

G) fewmd ¥ - (4). goad ¥

Match List-I with List-1I and select the..correct answer using the codes given
below : '

List-I . List-T

| Therndike A ,.,Conditioned Response
i Pavlov B . Re-inforcement Theory
M Clark Hull C  Insight Theory
[V Kohiar D SR Theory
Code :
1 11 m AY
(h D B C A
2) B D C A
(3) D A B C
4 A B D C

gar-1 @ ga-1l ¥ gafd @iy oft i &g T @is § ¥ I @
qOq BN

-1 | G-I
1 grfeEs A SgEiea sfe
1 ueee B  gadwd ot R
I #weh & C o e
IV &Eag D WA e R
&E :

[ 1l il v
() D B C A
(2) B D C A
3) D A B C
4y A B D C
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5 Tick the appropriate chain in the lédrning process :
(1) Goal - Adjustment - Motive - Change.
(2) Change - Goal - Motive - Adjustment
(3) Motive - Goal - Adjustment -, Change
(4) Adjustment - Motive - Goal - Change
sftrm afpn ¥ w8 B W T P
() w@ - goEieE - iR - aER
@) ofer - wm o e EEEee
(3) Wim - W — wHEeW - afreads
(4) wHENE - WE - W - uiEe

i6  Which one is the constructivist approach of learning ?

(I} Student who learn by repeating new information over and again.

(2) Student who elaborate on:dew information by analysing interpreting and
connecting 1t to previously learned information. '

(3) Student who does not learn the new information if it contradiets to, what
he already new to be true.

{4) Student who waits for the teacher to assess his previous knowledge about
particular topic and let him to add new knowledge.

Frer & & @ sifrm w1 Fifaar sorm & 7

() BEF @ 780 O W IR 9 AEEHE TE BT |

(2) B S TEE I B RO § faewwer st ¢, o 1e T wd & it gEHem
¥ wEeR dear ¥ o1

(3) ®E W TEM o, g gdee 4 REag gw e ¥, ¥ fgarmE e
o @ T A

() BF = e @ AR B & 6 a9z oF fyfie ywen & e F wEd
QETT W SR Wb TAIT FE B A |

87 Which one of the followmg.statement is not correct 7
(1) Growth and develepment are synonym.
(2) Growth include.changes in quantitative aspect.
(3) Growth does not continue throughout life.
(4) Growth may bring development,

e o ¥ e wuw wEr WE ¥ 7
(1) ghe wa Rem wakmEmr ¥ |
@) Fhs ¥ W oRadT fia ¥ o
- (3) ghg e 9 ERT |

@) dgfg % g f@wm o g ¥ o
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- 88  Which statement is wrong in relatiom:td' human development ?
(1) Tt continues till maturity i)

(2) 1t is a continuous process ¢}

(3) It is progressive sequence of change

(4) It happens also in pre-birth stage
GisCIREEA R M | o B R S
(1) ¥% wlRggaan o oo &

(2) WE waq AheA B

() @y ufads @ wifaele ww ¥

(@) = soqd grren WO gl @

.0
[

89  Which of the following characters has‘_;ii,ré'ét influence on the persenality ?
(a) Physique and social behaviour |
(b) Mental and spiritual make-up
{c) Emotional aspect
(d) Experience
Select the correct answer using the codes| given below :
(1) only (a) (2)»_(a) and (d)
(3) (b)and (c) (4)..”All the above
Prg & @ @ @ Rudwn erfdeH @8 waRE Bt 2
(a) oTAR® TET ud wefee HaER
(by WETHE wd emenife drgen

(c) HAMHE SR -

(d) «g¥a

e T guegel @ SuE W we Sav ghhg

(1) Tk (a) (2) () T (d)

(3)_ )T (o) #) s @l
90 Which one is responsible for maladjusted personality ?

(1) Too much of super ego (2) Having ego

(3} Lack of aspiration 4 id

e 3 @ o afka & @ /= ¥ foe feer &2

() g FN & Al (2) e

(3) TRiEm B FAHI 4 3=
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1 Three dimensional theory of intelligemce: is of R

(1) Spearman : (2) Thorndike L
(3) Guilford (4) Kerlinger DU
g & ome feea € - e

(1) I & (2) uF=Ed Wi

(3) TFres @ BT 4) BRI @

2. A child can be judged as having creative abilities if he/she -
(1) Ask questions out of curiosity .
(2)  Achieves high marks _
(3) Is obedient and complete homework
(4) Creates indiscipline in the class
RGOS A (@ § uR as -
(1) fosmam@e ueT qeer ¥
(2) e =X Wi wedr
(3) oEE ¥ S TERR U @il &
(4) & F AIET W BN T

3 Which one of the following. statement about intelligénceis not correct ?
(1) Intelligence is the product of heredity and environment.
(2) Vertical growth of intelligence continues life long.
(3) Intelligence is not gender bias.
(4) Intelligence is mot birth right of(a.group/race.

e & dou ¥ fra § § A wywed Al v 2

() g 991 w9 ok vatarm.ady 39 & )

2) =& F wEaq ghe, deqwdw B ¥

(G) ghe W % T @ |

(4) gfg w @ wE W & ovlvg el Y ¥

94  Which one of the following is not an aspect of motivation ?

(1) Need (2) Pressure
(3) Drive (4) Incentive
e & @ @ ofom w1 wa ¥ 7

(1)  omayaeha (2) g

(¢) gma (@) - @) W
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95  Assertion (A) : Motivation is important:in the process of teaching learning.
Reason (R) : Motivation is attraction towards a goal and clarlhes its meaning.
Codes :

(1} Only (A) is correct and (R) is incorrect

(2) Only (A) is correct

(3) Only (R) is correct

{4) Both (A} and (R) are correct

weE (A) ¢ Terer sy wfied oRTROT SayEd ¥

9 (R) : mﬁﬁ“ﬂaﬁ%ﬁmm%ﬁﬁﬁfﬁmmﬁ
CaGINEA :

(1) fak (A) 98 ¥ wd (R) d ¥

) fad (A) @& &

G) Tk (R) @&l 3

@ (A @ (R) S E

96 Which comes under extrinsic motivation 7
(a) Reading a poem
(b) Solving mathematical problem
(¢} Participation m a race
(d) Drawing a picture
Select the correct answer using the codes given below :

(1} Only (a) (2) (b} and (d)
(3) Only (¢) (4)../(a) and (c)
e & ¥ sad wE Sl W 67

(a) HIAIS :

(b) T ® UST T WU
(<) CERE: B IR

(dy ®= ==

I R e & SIS @ WA iy

(1) RE (a) (2) (b) 3R (d)
3) (o) 4) (a) 9T (c)

97  Knowledge of individual ‘difference helps teacher in : °
(1) ~Maintaining discipline in the classroom
(2) Evaluating homework of students
(3) Planning the teaching learning activities
(4) Making necessary system in the class
G Erac SRR R s S e i O G B
() ®@ H oFyTRT g 3@T §
() ®E % TEEE b gRieT i
(3) Ty siftrm fparel @ giemn g ®
(@) ww ¥ e waen s @ H
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'8 Which of the following comes under;the category of 'Children of Special
needs' ? ' RETEN IR
{a) Gifted
(b) Mentally retarded
(c) Physically handicapped
(d) Socially handicapped
Select the answer using the codes ‘given below :

(1) (a) and (b) 2y (e) and (d)

(3) (b) and (c) . 4y All the above

Fr % @ B Ry sagudd a@ e’ &% owl N emen §0?
(@) wRrTEE -

(b) R w9 ¥ R
(c) 9RITs w9 ¥ ofem
(d) ufve &9 o e
T Ru we § ¥ 98 wav wgw A

(1) (a) 8% (b) | @ (9 & (d)
(3) (b) &T (0) - () SohE wdr
99  Which of the following consists a wealth of instruction_material ?
{1) Text book (2)- Work book
(3) Self instructional booklet (4) Resource unit
frfefes & 4 few & orgeyw aepl & offtemm ot ¥ 7
(1) wregEs (2) <, Jw
(3) wW ey gRde (4) - TEET THE

100 Which way should be adopted by, school authorities to maintain healthy mental
hygiene of the students ?

(I) Congenial atmospheré~at home

(2) Watch on children's friend

(3) Periodical Medical check-up

(4) Good method of teaching

BEI B AAYS B0 Y W@ T W a9 @Y & o Renem wanem @ s
TUBT HOAAT Ay ?

(I) =X WX g amEce &

(2) Tt F B o e e

(3) Tl wres wlem

@ oo & g RHEt
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SR. TEACHER GRADE Il COMP EXAM-2013

19-09-2014

PAPER-1(GK)
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